03096_K HEHAF WL MEBIRLE | FIRGENBRERS

7= miiEA

ME
W
TREHTE(LALER -
BMEER 5.8,

TEHEM
TRESRE(LALIE -
1B ER 1.4305,
T4 1.4034,

TN REELLLE
IRYER 1.4305,
Ti4H 1.4305,

A

W

A8, MAEFMBEEIALE,

W :

MA@, MAEFMBEEAE, MERLEL. BANBEE/LL
B,

BR:

PEHATEEIA4BEMNONERES) ., RAEEMEKREETEEHE
¥ E,

MHNTET ETUARERENIEF, A, IMEEL A SUET B2
SERIBFE , REBLEE L TIZREH,
XEMEEHER R A EEET A, BEBELTHENNERE , GBSk
HBEFWERM.

REFEXK :
HERRKR,

R4

B FEER 03089,
HEEBRAH

BT EEI4F 03094-10,

© norelem www.norelem.com



03096 K MEHHFE ML LS PERE | HRIUHAHRIEG

D2

—r=-
P | "
-
—
D002
-0,04

03096-2903 K | ®% | 2{LLE 3 M6x0,75 M2 24|17 3,5 3,5 10 0,8 4,5 10 03094-99
03096-2004 K | ®% | KELLE 4 M8x1 M3 (32|21 7 4 13 1 6 12 03094-90
03096-2105 K | ®%l | 2E{LLE 5 M10x1 M4 3724 8 5 17 1,3 5 12 03094-91
03096-2206 K | ®% | 2E{LLE 6 M12x1,5 M6 (42|28 8 6 19 1,8 6 14 03094-92
03096-2308 K | ®% | 2E{LLE 8 M16x1,5 M8 (56|36 12 8 24 2,3 15 35 03094-93
03096-2410 K | ®% | 28{L4E 10| M20x1,5 M8 |62(40 12 10 30 2,8 15 34 03094-94
03096-2412 K | ¥% | 2@E{La®E 12) M20x1,5 M8 (6642 12 12 30 2,8 15 39 03094-94
03096-2516 K | 9%l | RF{LLE 16 M24x2 M10 |80|50 14 16 36 3,2 20 46 03094-95
03096-02903 K |59 fELE 3 M6x0,75 M2 24|17 3,5 3,5 10 0,8 4,5 10 03094-99
03096-02004 K |T5%| 2E{LLE 4 M8x1 M3 3221 7 4 13 1 6 12 03094-90
03096-02105 K |T5%| 2E{LLE 5 M10x1 M4 37|24 8 5 17 1,3 5 12 03094-91
03096-02206 K |9 fBELE 6 M12x1,5 M6 (42|28 8 6 19 1,8 6 14 03094-92
03096-02308 K | 759 2E{LLE 8 M16x1,5 M8 (56|36 12 8 24 2,3 15 35 03094-93
03096-02410 K [T £BELE 10 M20x1,5 M8 |62(40 12 10 30 2,8 15 34 03094-94
03096-02412 K | 759 2E{LLE 12| M20x1,5 M8 (6642 12 12 30 2,8 15 39 03094-94
03096-02516 K | T5M| 2F{LLE 16 M24x2 M10 |80|50 14 16 36 3,2 20 46 03094-95

© norelem www.norelem.com



03096_K HEHAF WL MEBIRLE | FIRGENBRERS

SW | Fx30° | MAE | ARME | fefr
BB | BERD
FIAN | F2AN

03096-12903 K REECALE 3| M6x0,75 35 35 0,8 4,5 03094-99
03096-12004 K | T8%| RELLE 4 M8x1 M3 32|21 7 4 13 1 6 12 03094-90
03096-12105 K |7™8% | RELLE 5 M10x1 M4 37|24 8 5 17 1,3 5 12 03094-91
03096-12206 K | 7%% | RE{LLE 6| M12x1,5 M6 (42|28 8 6 19 1,8 6 14 03094-92
03096-12308 K |F8W| RE{LLLE 8| M16x1,5 M8 |56(36 12 8 24 2,3 15 35 03094-93
03096-12410 K | ~® | RE{LLE 10| M20x1,5 M8 [62(40 12 10 30 2,8 15 34 03094-94
03096-12412 K |79 RE{LLE 12| M20x1,5 M8 |66(42 12 12 30 2,8 15 39 03094-94
03096-12516 K |7T8%W| RELLLE 16 M24x2 M10 |80(50 14 16 36 3.2 20 46 03094-95

© norelem www.norelem.com



